District School Board of Pasco County Bid Recommendation

Bid Title	Paper Products-Warehouse Stock-Part II	Number of Vendors Notified	277
Bid Number	10-011-SN	Number of Bids Distributed	49
Date Solicited	January 15, 2009	Number of Vendors Bidding	15
Date Opened	February 7, 2009	Number of Formal "No Bid" Responses	3
Date Board Presentation	May 19, 2009	Funding Source	General Funds
Total Savings	\$17,165.83	Grand Total of Bid	\$258,351.92

Recommendation:

Recommend acceptance of bids as noted on the attached tabulation sheet as lowest and best, responsive, responsible bids meeting written specifications.

Term of Contract:

This bid is to establish a firm fixed price for the annual purchase of paper products to be stocked in the central warehouse for use throughout the District.

Notations and Exceptions:

In most cases, paper was bid in two groups per category recycled content and non-recycled. (i.e., Group I Drawing Paper – Non-Recycled and Group I-A Drawing paper – Recycled content). Any group denoted with an "A" after the group refers to a recycled content product. Bidders were advised only one group would be awarded based upon costs.

Offers from vendors listed herein are the only offers received timely as of the above opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Bids Evaluated By:

District employees: Art Teachers - Mary Jane Walker and Judy Vilmure, Stephanie Bracciale Eddie Flicker, District Custodial Service Coordinator

Bids Prepared By:

Stephanie Noble, Buyer, Purchasing Department

Reviewed and Authorized By:

Kendra Goodman, CPPB, Purchasing Agent

Notations and Exceptions:

Group IV: Construction Paper-Recommend rejection of all bids for Group IV as the same product was bid for recycled content under IVA for the same cost as the virgin product and met minimum specified recycled content.

<u>Group IVA: Construction Paper-</u> Recommend acceptance of bid from Pyramid School Products as the lowest and best, responsive and responsible bid meeting written specifications, testing criteria and specified recycled content.

<u>JS-19 and JS-19AToilet Tissue</u>-Rejection of low bid from Southern Paper as the true cost could not be calculated due to delivery dates and an escalation clause. Recommend Rejection of all bids. Request permission to order from State Contract #640-002-06-1 with Dade Paper as all other bid prices were higher than the state contract. Expenditures under the state contract will be \$91,398.92.

<u>JS-20- Single-Fold Towels-</u> Recommend rejection of low bid from Southern Paper as the true cost could not be calculated due to delivery dates and an escalation clause. Recommend rejection of all bids for JS-20 as the same products were bid for the recycled products (JS-20A) for the same cost as the virgin product.

<u>JS-20A Single Fold Towels -</u> Recommend rejection of low bid from Southern Paper as the bid received could not be calculated due to delivery dates and an escalation clause. Recommend acceptance of bid from Peninsular Paper as the lowest and best, responsive and responsible bid meeting written specifications, testing criteria and minimum specified recycled content.

<u>JS-21 and JS-21A Multi-Fold Towels</u> – Rejection of low bid from Southern Paper as the bid received could not be calculated due to delivery dates and an escalation clause. Recommend rejection of all bids. Request permission to order from State Contract #640-002-06-1 with Dade Paper as all other bid prices were higher than the state contract. Expenditures under the state contract will be \$91,200.

DATE OF	F OPENI	ING: February 7, 2009 @ 2:30 p.m	Ace Offic	e Supplies	AFP Sch	ool Supply	Bye-M	o'r. Inc.
		er Products - Warehouse Stock		ph Ct., #5		x 43-0747	P.O. B	
BID: # 10	-			FL 32805		FL 33243-0747	Kingsbury, IN	
ITEM#	QTY.	DESCRIPTION						
		GROUP IV: CONSTRUCTION PAPER						
		Manufacturer			Riversid	e Tru-Ray	Tru Ray 10	3036/10306
PP-18G	1,000	Yellow	NB		\$2.02	\$2,020.00	\$1.99	\$1,990.00
PP-18S	300	Slate	NB		\$2.07	\$621.00	\$2.03	\$609.00
		Total "All or None" Bid Price - Group IV	NB			\$2,641.00		\$2,599.00
						<i><i><i></i></i></i>		<i><i><i>q</i>2<i>,csstooo</i></i></i>
		GROUP IVA: CONSTRUCTION PAPER (Recycle)						
		Manufacturer						
PPA-18G	,	Yellow	NB		NB		NB	
PPA-18S	300	Slate	NB		NB		NB	
		Total "All or None" Bid Price - Group IVA	NB		NB		NB	
		GROUP IX: JANITORIAL TISSUE						
JS-19	2,400	Toilet Tissue	NB		NB		NB	
	Cases	Manufacturer						
		Number of Rolls Per Case						
		Number of Pallets						
		Charge per Pallet						
***Alte	ernate							
JS-19	2,400	Toilet Tissue	NB		NB		NB	
	Cases	Manufacturer						
		Number of Rolls Per Case						
		Number of Pallets						
		Charge per Pallet						
JS-20	4,800	Single-Fold Towels	NB		NB		NB	
	Cases	Manufacturer						
		Number of Towels Per Case						
		Number of Pallets						
		Charge per Pallet						
***Alte								
JS-20	4,800	Single-Fold Towels	NB		NB		NB	
	Cases	Manufacturer						
		Number of Towels Per Case Number of Pallets						
		Charge per Pallet						

DATE O	F OPENI	ING: February 7, 2009 @ 2:30 p.m	Central Poly	Corporation	MacPapers, Inc.	Peninsula	r Paper Company
		er Products - Warehouse Stock	18 Donalds		3300 Phillips Hwy.		E. Hanna Ave.
BID: # 10			Linden, N		Jacksonville, FL 32207-4312		oa, FL 33610
ITEM#	QTY.	DESCRIPTION					
		GROUP IV: CONSTRUCTION PAPER					
		Manufacturer					
PP-18G	1,000	Yellow	NB		NB	NB	
PP-18S	300	Slate	NB		NB	NB	
		Total "All or None" Bid Price - Group IV	NB		NB	NB	
		GROUP IVA: CONSTRUCTION PAPER (Recycle)					
DD 4 100	1 000	Manufacturer					
PPA-18G		Yellow	NB		NB	NB	
PPA-18S	300	Slate	NB		NB	NB	
		Total "All or None" Bid Price - Group IVA	NB		NB	NB	
		GROUP IX: JANITORIAL TISSUE					
JS-19	2,400	Toilet Tissue	\$43.60	\$104,640.00	NB	\$39.78	\$95,472.00
	Cases	Manufacturer	G.P. 14580/01			SCA T516365	
		Number of Rolls Per Case	80			96/1000	
		Number of Pallets					
		Charge per Pallet	7				
***Alt	ernate						
JS-19	2,400	Toilet Tissue	NB		NB	NB	
	Cases	Manufacturer					
		Number of Rolls Per Case					
		Number of Pallets					
		Charge per Pallet					
JS-20	4,800	Single-Fold Towels	\$18.99	\$91,152.00	NB	\$14.67	\$93,888.00
	Cases	Manufacturer	G.P. 23504			Cascade 101750	**incorrect price on bid
		Number of Towels Per Case	4000			4,000	\$70,416.00
		Number of Pallets	89				
		Charge per Pallet	7				
***Alt	1						
JS-20	4,800	Single-Fold Towels	NB		NB	NB	
	Cases	Manufacturer					
		Number of Towels Per Case					
		Number of Pallets					
		Charge per Pallet					

DATE OI	F OPENI	NG: February 7, 2009 @ 2:30 p.m	Pride Ent	erprises	Pyramid School Products		Resource One	
BID TITI	LE: Pape	er Products - Warehouse Stock	12425 28th S	Street North	6510 N. 54th Street		1202 N. Magnolia Ave.	
BID: # 10)-011-SN		Saint Petersbu	rg, FL 33716	Tampa, F	L 33610	Ocala, FL 34	4475
ITEM#	QTY.	DESCRIPTION						
		GROUP IV: CONSTRUCTION PAPER						
		Manufacturer			Riverside (Pae	con) Tru-Ray		
PP-18G	1,000	Yellow	NB		\$1.725	\$1,725.00	NB	
PP-18S	300	Slate	NB		\$1.76	\$528.00	NB	
		Total "All or None" Bid Price - Group IV	NB		+	\$2,253.00	NB	
		GROUP IVA: CONSTRUCTION PAPER (Recycle)						
		GROOT IVA: CONSTRUCTION THE ER (Recycle)			Riverside (Pa	con) Tru-Ray		
		Manufacturer			103036 &			
PPA-18G	1,000	Yellow	NB		\$1.725	\$1,725.00	NB	
PPA-18S	300	Slate	NB		\$1.76	\$528.00	NB	
		Total "All or None" Bid Price - Group IVA	NB			\$2,253.00	NB	
		GROUP IX: JANITORIAL TISSUE						
JS-19	2,400	Toilet Tissue	NB		NB		\$42.77	\$102,648.00
	Cases	Manufacturer					G.P. 14580	
		Number of Rolls Per Case					1210/80	
		Number of Pallets					0	
		Charge per Pallet					0	
***Alt	ernate							
	2,400	Toilet Tissue	NB		NB		\$48.72	\$116,928.00
	Cases	Manufacturer					Cascades 4059	
		Number of Rolls Per Case					80	
		Number of Pallets					30	
		Charge per Pallet						
JS-20	4,800	Single-Fold Towels	NB		NB		\$16.18	\$77,664.00
	Cases	Manufacturer					G.P. 235-04	
		Number of Towels Per Case					4000 16/250	
		Number of Pallets					0	
		Charge per Pallet					0	
***Alt								
JS-20	4,800	Single-Fold Towels	NB		NB		\$15.73	\$75,504.00
	Cases	Manufacturer					Cascades 10175	50 Kraft
		Number of Towels Per Case						
		Number of Pallets					60	
		Charge per Pallet						

DATE OF	F OPEN	IING: February 7, 2009 @ 2:30 p.m	School Sp	acialty	S	outhern Paper Group	
		per Products - Warehouse Stock	W6316 Desi	-	6201 Corporate Park Drive		
BID: # 10	-		Greenville, V	-		Summit, NC 27214-9745	
DID : # 10				1104042	Diwons		
ITEM#	QTY.	DESCRIPTION					
		GROUP IV: CONSTRUCTION PAPER					
		Manufacturer	Pacon Tru-Ray 054	069 and 054147			
PP-18G	1,000	Yellow	\$2.17	\$2,170.00	NB		
PP-18S	300	Slate	\$2.17	\$651.00	NB		
		Total "All or None" Bid Price - Group IV		\$2,821.00	NB		
				<i><i><i><i></i></i></i></i>	1.2		
		GROUP IVA: CONSTRUCTION PAPER (Recycle)					
		Manufacturer					
PPA-18G	1,000	Yellow	NB		NB		
PPA-18S	300	Slate	NB		NB		
		Total "All or None" Bid Price - Group IVA	NB		NB		
		GROUP IX: JANITORIAL TISSUE					
JS-19	2,400	Toilet Tissue	NB		\$32.98	\$79,152.00	
	Cases	Manufacturer			Atlas 280	min order 650 case	
		Number of Rolls Per Case			96	price good thru 7/31/2009	
		Number of Pallets			26	6% escalator thru 12/31/2009	
		Charge per Pallet					
***Alte	ernate						
JS-19	2,400	Toilet Tissue	NB		NB		
	Cases	Manufacturer					
		Number of Rolls Per Case					
		Number of Pallets					
		Charge per Pallet					
JS-20	4,800	Single-Fold Towels	NB		\$14.40	\$69,120.00	
	Cases	Manufacturer			Georgia 23504	min order 1820 case	
		Number of Towels Per Case			4,000	price guaranteed thru 3/31/2010	
		Number of Pallets			26		
		Charge per Pallet					
***Alt							
JS-20	4,800	Single-Fold Towels	NB		NB		
	Cases	Manufacturer					
		Number of Towels Per Case					
		Number of Pallets					
		Charge per Pallet					

DATE O	F OPEN	ING: February 7, 2009 @ 2:30 p.m	Smith Office & Computer Supply	Standard Sta	ationary	Unisource	
D TIT	LE: Pap	er Products - Warehouse Stock	1009 South 21st Avenue	2251 Foste	er Ave.	4151 Woodcock Driv	'e
ID: # 10)-011-SN	1	Hollywood, FL 33020	Wheeling, IL 6	0090-6508	Jacksonville, FL 3220)7
ITEM#	QTY.	DESCRIPTION					
		GROUP IV: CONSTRUCTION PAPER					
		Manufacturer		Pacon Riverside		·	
P-18G	1,000	Yellow	NB	\$1.73	\$1,730.00	NB	
P-18S	300	Slate	NB	\$1.77	\$531.00	NB	
1 105	200	Total "All or None" Bid Price - Group IV	NB	<i><i><i>Q</i>₁₁, <i>1</i></i></i>	\$2,261.00	NB	
				min order pac			
		GROUP IVA: CONSTRUCTION PAPER (Recycle)		I I I I I I I I I I I I I I I I I I I			
		Manufacturer					
PPA-186		Yellow	NB	NB		NB	
PPA-18S	300	Slate	NB	NB		NB	
		Total "All or None" Bid Price - Group IVA	NB	NB		NB	
		GROUP IX: JANITORIAL TISSUE					
IS-19	2,400	Toilet Tissue	NB	NB		NB	
	Cases	Manufacturer					
		Number of Rolls Per Case					
		Number of Pallets					
		Charge per Pallet					
***Alt	ernate						
IS-19	2,400	Toilet Tissue	NB	NB		NB	
	Cases	Manufacturer					
		Number of Rolls Per Case					
		Number of Pallets					
		Charge per Pallet					
S-20	4,800	Single-Fold Towels	NB	NB		NB	
	Cases	Manufacturer					
		Number of Towels Per Case					
		Number of Pallets					
		Charge per Pallet					
***Alt	1						
IS-20	4,800	Single-Fold Towels	NB	NB		NB	
	Cases	Manufacturer					
		Number of Towels Per Case					
		Number of Pallets					
		Charge per Pallet					

DATE O	F OPENI	ING: February 7, 2009 @ 2:30 p.m	Xerox
BID TITI	E: Pape	er Products - Warehouse Stock	1303 Ridgeview Drive, Bldg. 300
BID: # 10)-011-SN	I	Lewisville, TX 75057
BID TITLE: Pap BID: # 10-011-S ITEM# QTY. PP-18G 1,000 PP-18S 300 PP-18S 300 PPA-18G 1,000 PPA-18G 1,000 PA-18S 300 PA-18S 70 PA-18S 70 PA-1		DESCRIPTION	
		GROUP IV: CONSTRUCTION PAPER	
		Manufacturer	
	1.000		NID
		Yellow	NB
PP-18S	300	Slate	NB
		Total "All or None" Bid Price - Group IV	NB
		GROUP IVA: CONSTRUCTION PAPER (Recycle)	
		Manufacturer	
PPA-18G	1.000	Yellow	NB
	,	Slate	NB
1171-105	500	Total "All or None" Bid Price - Group IVA	NB
		Total All of None Blu Trice - Group IVA	
		GROUP IX: JANITORIAL TISSUE	NB
JS-19	2,400	Toilet Tissue	
	Cases	Manufacturer	
		Number of Rolls Per Case	
		Number of Pallets	
		Charge per Pallet	
***Alt	ernate		
IS-19		Toilet Tissue	NB
	Cases	Manufacturer	
		Number of Rolls Per Case	
		Number of Pallets	
		Charge per Pallet	
[S-20	4.800	Single-Fold Towels	NB
		Manufacturer	
		Number of Towels Per Case	
		Number of Pallets	
		Charge per Pallet	
***Alt	ernate		
IS-20	4,800	Single-Fold Towels	NB
	Cases	Manufacturer	
		Number of Towels Per Case	
		Number of Pallets	
		Charge per Pallet	

OI LIN	ING: February 7, 2009 @ 2:30 p.m	Ace Offic	e Supplies	AFP School Su	ipply	Bye-Mo'r	, Inc.
QTY.	DESCRIPTION						
6,400	Multi-Fold Towels	NB		NB		NB	
Cases	Manufacturer						
	Number of Towels Per Case						
	Number of Pallets						
	Charge per Pallet/Exchange						
ernate							
	Multi-Fold Towels	NB		NB		NB	
Cases	Manufacturer					-	
	Number of Towels Per Case						
	Number of Pallets						
	Charge per Pallet/Exchange						
	GROUP IX-A: JANITORIAL TISSUE						
2,400	Toilet Tissue	NB		NB		NB	
Cases	Manufacturer						
	Number of Towels Per Case						
	Charge per Pallet/Exchange						
	% Recycle Content						
4800	Single-Fold Towels	NB		NB		NB	
Cases	Manufacturer						
	Number of Towels Per Case						
	Number of Pallets						
	Charge per Pallet/Exchange						
	% Recycle Content						
6400	Multi-Fold Towels	NB		NB		NB	
Cases	Manufacturer						
	Number of Towels Per Case						
	Number of Pallets						
	Charge per Pallet/Exchange						
	Recycle Content						
	GROUP XVII: MISC. PAPER PRODUCTS						
100	Continous Feed Green Bar Paper	\$34.85	\$3,485.00	NB		NB	
Boxes							
_ 0.100		T uno					
	-011-SI QTY. 6,400 Cases ernate 6,400 Cases 2,400 Cases 4800 Cases 6400 Cases	6,400 Multi-Fold Towels Cases Manufacturer Number of Towels Per Case Number of Pallets Charge per Pallet/Exchange Charge per Pallet/Exchange ernate 6,400 Multi-Fold Towels Cases Manufacturer Number of Towels Per Case Number of Towels Per Case Number of Pallets Charge per Pallet/Exchange GROUP IX-A: JANITORIAL TISSUE 2,400 Toilet Tissue Cases Manufacturer Number of Towels Per Case Number of Towels Per Case Munufacturer Number of Towels Per Case Number of Towels Per Case Number of Towels Per Case Number of Towels Per Case Number of Pallets Charge per Pallet/Exchange % Recycle Content 4800 Single-Fold Towels Cases Manufacturer Number of Towels Per Case Number of Pallets Charge per Pallet/Exchange % Recycle Content 4800 Single-Fold Towels Cases Manufacturer Number of Towels Per Case Number of Pallets Charge per Pallet/Exchange % Recycle Content 6400<	-011-SN Orlando, QTY. DESCRIPTION 6.400 Multi-Fold Towels NB Cases Manufacturer Image: Comparison of the second of	-011-SN Orlando, FL 32805 QTY. DESCRIPTION Image: Constraint of the second	-011-SN Orlando, FL 32805 South Miami, FL 33 QTY. DESCRIPTION Image: Constraint of the second	-011-SN Ortando, FL 32805 South Miami, FL 33243-0747 GTV. DESCRIPTION Image: Control of Parlies NB NB Sumber of Towels Per Case Image: Control of Control o	Orlando, FL 32805 South Miami, FL 33243-0747 Kingsbury, IN 4 OTY DESCRIPTION Image: Control of

DATE O	F OPEN	ING: February 7, 2009 @ 2:30 p.m	Central Poly	Corporation	MacPapers	, Inc.	Peninsular Paper Company		
BID TITI	LE: Pape	er Products - Warehouse Stock	18 Donalds		3300 Phillip			lanna Ave.	
ID: # 10	0-011-SN	N	Linden, N	J 07036	Jacksonville, FL	32207-4312	Tampa,	FL 33610	
ITEM#	QTY.	DESCRIPTION							
IS-21	6,400	Multi-Fold Towels	\$18.36	\$117,504.00	NB		\$14.67	\$93,888.00	
	Cases	Manufacturer	Putney P200N				Cascades 101751		
		Number of Towels Per Case	4000						
		Number of Pallets							
		Charge per Pallet/Exchange	7						
***Alt	ornato								
S-21	6,400	Multi-Fold Towels	NB		NB		NB		
5 =1	Cases	Manufacturer			1,2		1,2		
		Number of Towels Per Case							
		Number of Pallets							
		Charge per Pallet/Exchange							
		GROUP IX-A: JANITORIAL TISSUE							
IS-19A	2,400	Toilet Tissue	NB		NB		\$45.41	\$108,984.00	
<u> </u>	Cases	Manufacturer			1,2		Cascades 4059	<i><i>q</i>100<i>,</i>90.000</i>	
	Cases	Number of Towels Per Case					80/1210		
		Number of Pallets					00/1210		
		Charge per Pallet/Exchange							
		% Recycle Content					100		
							100		
S-20A	4800	Single-Fold Towels	NB		NB		\$14.67	\$70,416.00	
	Cases	Manufacturer					Cascades 101750		
		Number of Towels Per Case					4,000		
		Number of Pallets							
		Charge per Pallet/Exchange							
		% Recycle Content					80		
S-21A	6400	Multi-Fold Towels	NB		NB		\$14.67	\$93,888.00	
	Cases	Manufacturer					Cascade 101751		
		Number of Towels Per Case					4,000		
		Number of Pallets							
		Charge per Pallet/Exchange							
		Recycle Content					80		
		GROUP XVII: MISC. PAPER PRODUCTS							
PP-68	100	Continous Feed Green Bar Paper	NB		\$30.84	\$3,084.00	NB		
-	Boxes	Manufacturer			Enterprise 148107				
	DUACS								

		ING: February 7, 2009 @ 2:30 p.m	Pride Enterprises	Pyramid School Products	Resource Or	ie
BID TITI	LE: Pape	er Products - Warehouse Stock	12425 28th Street North	6510 N. 54th Street	1202 N. Magnoli	a Ave.
BID: # 10	0-011-SN	1	Saint Petersburg, FL 33716	Tampa, FL 33610	Ocala, FL 34	475
ITEM#	QTY.	DESCRIPTION				
JS-21	6,400	Multi-Fold Towels	NB	NB	\$16.18	\$103,552.00
0.5 -1	Cases	Manufacturer			G.P. 233-04	\$100,00 2 100
		Number of Towels Per Case			4000 16/250	
		Number of Pallets			0	
		Charge per Pallet/Exchange			0	
***Alt	ernate					
JS-21	6,400	Multi-Fold Towels	NB	NB	\$15.73	\$100,672.00
	Cases	Manufacturer			Cascades 101750 Kraft	
		Number of Towels Per Case				
		Number of Pallets			60	
		Charge per Pallet/Exchange				
		GROUP IX-A: JANITORIAL TISSUE				
JS-19A	2,400	Toilet Tissue	NB	NB	NB	
	Cases	Manufacturer				
		Number of Towels Per Case				
		Number of Pallets				
		Charge per Pallet/Exchange				
		% Recycle Content				
JS-20A	4800	Single-Fold Towels	NB	NB	NB	
	Cases	Manufacturer				
		Number of Towels Per Case				
		Number of Pallets				
		Charge per Pallet/Exchange				
		% Recycle Content				
JS-21A	6400	Multi-Fold Towels	NB	NB	NB	
	Cases	Manufacturer				
		Number of Towels Per Case				
		Number of Pallets				
		Charge per Pallet/Exchange				
		Recycle Content				
		GROUP XVII: MISC. PAPER PRODUCTS				
PP-68	100	Continous Feed Green Bar Paper	NB	NB	NB	
	Boxes	Manufacturer				

DATE O	F OPENI	ING: February 7, 2009 @ 2:30 p.m	School Spec	ialty	So	outhern Paper Group		
BID TITI	E: Pape	er Products - Warehouse Stock	W6316 Desigr			6201 Corporate Park Drive		
BID: # 10)-011-SN	1	Greenville, WI			Summit, NC 27214-9745		
ITEM#	QTY.	DESCRIPTION						
JS-21	6,400	Multi-Fold Towels	NB		\$13.59	\$86,976.00		
	Cases	Manufacturer			SCA MK518A	min order 2310 case		
		Number of Towels Per Case			4,000	price guaranteed thru 12/31/2009		
		Number of Pallets			30			
		Charge per Pallet/Exchange						
***Alt	ernate							
	6,400	Multi-Fold Towels	NB		NB			
	Cases	Manufacturer						
		Number of Towels Per Case						
		Number of Pallets						
		Charge per Pallet/Exchange						
		GROUP IX-A: JANITORIAL TISSUE						
JS-19A	2,400	Toilet Tissue	NB		\$32.98	\$79,152.00		
	Cases	Manufacturer			Atlas 280	price guaranteed thru 7/31/2009		
		Number of Towels Per Case			96	6% escalator thru 12/31/2009		
		Number of Pallets			26	will give 30 days notice		
		Charge per Pallet/Exchange				on market increase		
		% Recycle Content			100			
JS-20A	4800	Single-Fold Towels	NB		\$14.40	\$69,120.00		
	Cases	Manufacturer			Georgia Pacific 2350	min order 1820 cases		
		Number of Towels Per Case			4,000	price guaranteed thru 3/31/2010		
		Number of Pallets			26			
		Charge per Pallet/Exchange						
		% Recycle Content			50			
JS-21A	6400	Multi-Fold Towels	NB		\$13.59	\$86,976.00		
	Cases	Manufacturer			SCA MK518A	min order 2310 cases		
		Number of Towels Per Case			4,000	price guaranteed thru 12/31/2009		
		Number of Pallets			30			
		Charge per Pallet/Exchange						
		Recycle Content			100			
		GROUP XVII: MISC. PAPER PRODUCTS						
PP-68	100	Continous Feed Green Bar Paper		NB	NB			
	Boxes	Manufacturer						

		NG: February 7, 2009 @ 2:30 p.m	Smith Office & Computer S	upply	Standard St	ationary	Unisource	
BID TITI	LE: Pape	er Products - Warehouse Stock	1009 South 21st Aven		2251 Fost	er Ave.	4151 Woodcock D	rive
BID: # 10	0-011-SN		Hollywood, FL 33020	0	Wheeling, IL 6	0090-6508	Jacksonville, FL 32	207
ITEM#	QTY.	DESCRIPTION						
	6,400	Multi-Fold Towels	NB		NB		NB	
	Cases	Manufacturer						
	Cuses	Number of Towels Per Case						
		Number of Pallets						
		Charge per Pallet/Exchange						
*** * 14								
***Alt JS-21	6,400	Multi-Fold Towels	NB		NB		NB	
JS-21	Cases	Manufacturer	INB		NB		NB	
	Cases	Number of Towels Per Case						
		Number of Pallets						
		Charge per Pallet/Exchange						
10.10.1	a 400	GROUP IX-A: JANITORIAL TISSUE			ND		¢20. (1	#0 5 0 < 4 0
JS-19A	2,400	Toilet Tissue	NB		NB		\$39.61	\$95,064.0
	Cases	Manufacturer					Georgia Pacific 14580-01	
		Number of Towels Per Case					80/RL/Case	
		Number of Pallets					600 case min per order	
		Charge per Pallet/Exchange						
		% Recycle Content					20	
IS-20A	4800	Single-Fold Towels	NB				\$15.22	\$73,056.0
	Cases	Manufacturer			NB		Georgia Pacific 23504	
		Number of Towels Per Case					4,000	
		Number of Pallets					1680 Case min per order	
		Charge per Pallet/Exchange						
		% Recycle Content					50	
IS-21A	6400	Multi-Fold Towels	NB		NB		\$15.22	\$97,408.0
	Cases	Manufacturer					Georgia Pacific 23304	
		Number of Towels Per Case					4,000	
		Number of Pallets					1680 Case min per order	
		Charge per Pallet/Exchange						
		Recycle Content					50	
		GROUP XVII: MISC. PAPER PRODUCTS						
PP-68	100	Continous Feed Green Bar Paper	N	B		NB	NB	
	Boxes	Manufacturer						
	DOACO							

LE: Pape	NG: February 7, 2009 @ 2:30 p.m er Products - Warehouse Stock	Xerox 1303 Ridgeview Drive, Bldg. 300
-		1303 Ridgeview Drive, Bldg. 300
)-011-SN		
BID: # 10-011-SN		Lewisville, TX 75057
QTY.	DESCRIPTION	
6,400	Multi-Fold Towels	NB
Cases	Manufacturer	
	Number of Towels Per Case	
	Number of Pallets	
	Charge per Pallet/Exchange	
ernate		
6,400	Multi-Fold Towels	NB
Cases	Manufacturer	
	Number of Towels Per Case	
	Number of Pallets	
	Charge per Pallet/Exchange	
	GROUP IX-A: JANITORIAL TISSUE	
2.400		NB
4800	Single-Fold Towels	NB
Cases	Manufacturer	
	Number of Towels Per Case	
	Number of Pallets	
	Charge per Pallet/Exchange	
	% Recycle Content	
6400	Multi-Fold Towels	NB
Cases	Manufacturer	
	Number of Towels Per Case	
	Number of Pallets	
	Charge per Pallet/Exchange	
	Recycle Content	
	GROUP XVII: MISC. PAPER PRODUCTS	
100		NB
Boxes	Manufacturer	
I ISOYAC		
	6,400 Cases ernate 6,400 Cases 2,400 Cases 4800 Cases 6400 Cases	6,400 Multi-Fold Towels Cases Manufacturer Number of Towels Per Case Number of Pallets Charge per Pallet/Exchange Charge per Pallet/Exchange ernate 6,400 Multi-Fold Towels Cases Manufacturer Number of Towels Per Case Number of Towels Per Case Number of Pallets Charge per Pallet/Exchange GROUP IX-A: JANITORIAL TISSUE 2,400 Toilet Tissue Cases Manufacturer Number of Towels Per Case Number of Pallets Cases Manufacturer Number of Pallets Charge per Pallet/Exchange % Recycle Content % 4800 Single-Fold Towels Cases Manufacturer Number of Towels Per Case Number of Pallets Cases Manufacturer Number of Towels Per Case Number of Pallets Charge per Pallet/Exchange % Recycle Content 6400 Multi-Fold Towels Cases Manufacturer Number of Towels Per Case Number of Towels Per Case Number of Pallets Charge per Pallet/Exchange